THEEFNRAIFRUVEFHEAEERR EhER

“H6F4H81H

Ri% | BE-HE% | mEEs EwEx Copn g | REEH
7R-8H Xk X1 432 393 115 3445 103
INFERR
MEE 13 13 8 1.64% 8
EiE 34 32 11 11
= 75 59 13 13
MEE 1 1 0 0
BF 46 41 9 8
MEE 1 1 1 1
R 36 31 9 9
- BE 21 20 2 2
if*" e300 5 5 3 3
*RigHE 57 54 8 8
A 6 2 2
RE 10 3 3
e 63 52 14 9
MEE 2 2 2 2
INET 353 308 74 4265 68
EEE 4 4 3 1.345 3
EFEX3 20 18 4 4
HRRE 7 7 1 1
=N 24 22 1 1
e HhIE 9 9 1 1
NS 16 12 1 1
BF 38 34 2 2
W 9 8 1 1
. == 16 15 2 2
= 7] 15 15 1 1
= 3 3 1 1
R E 51 49 6 7
EBEFR L., CES 5 5 1 1
= £1ff 15 12 1 1
E 28 24 3 4
RE 5 4 1 1
1E4R 4 4 1 1
T 4 4 1 1
I% BR 3 3 2 2
BE 3 3 1 1
JKE 5 3 1 1
BiE 1 1 1 1
Lkl 1 1 1 1
INET 282 256 35 7.36% 37
R AR FR 55 53 22 2445 21
s [N RER 76 67 4 16.81% 4
x2 B EX 75 67 1 67.0f% 1
EEHF 27 17 8 2.14% 8
HEESHEER 16 15 2 7.5¢% 2
X1+ -TINERIETPER IIHREEET
X2- THEEHE DER-PER | ETBEEG SR BXIEHEESDT
X3 -ERMIEEFR~OEM(EFE)

X4

%5

ABRERIEEEHROERERRBEDLOD

- BEY- RERE SFSFEIAISARE MEE SFSFE11H6ARRK)
EEMF-EESIEES  SHSE12ATARK

RAEMICESTSEIA GADSHREREDEMEHREEST




